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9A15H S1E I'TCP/IP7AaraNVAR1—b]
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10A208 8B5@E I 77Vir—a7abaloiEst (3) | e (B3myE=E)
10A27H 56ME I77Vr—>ar7abaloniEst (4) e B3 mEE)

11A108 H7ME Myx7709537(220LW T
11A178 |8ME I 95147 1Rz 7709752 (1) )
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11A24H
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gom r7704—ay70balvonikst (5
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g11m 9517 90827705
g 12m 9247091827709
g13m 9517 690827709
®14m T HS17 1827709
E15m NFkEeHEHE |
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m la jnmohno

Y (BIEEE)
Y (BIHE=E)

Y (BIHE=E)
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Y (BIHEE)



JRiERE(HS)

- SimpleBinaryServer/SimpleBinaryClient I3
NAF)T =2 XZEITBLT, o
VIADER - A e—0%R|TZ7075L(KTE)ITHD
o YISl ISLT MBI,
Z(EEBRIRTENTL\EH, ZEEMAIRRTEIN TR
- B{ERB%EEKL, SimpleTextServer/SimpleTextClient &
RERICEMET BEIICTRAEIEES

o IRHEHARR: 12A22H(R)RBRET
- TG E
o —INDZA4T/hESBIC, 1DD7HIVFICLINT,
<BHEBES>.zip &LV 771 NVICERELUTIRE

- RERBABRZ17(XK5417) SimpleTCPBinaryApplication 744 ICE<



C Funl) |
if (this.zocket == mull || this. inpot == noll || this.outpot == ol )

E E B this.enabled = true:
- try {
while (this.enabled) {
char = this. input. readChar():

comisard
if (command == "N} {
Ainplement here

} else if {command == "37) {
Alinplement here

A 4
® I\ }else if { d == "H) |
£ ol L

this.applicat ion.setHogel);

- SimpleBinarySocket.java @ run() T ot ot ot £ 5 comr
R{EEBIERBEL TS et Ei?ﬁfsfzzﬁcai:ﬁ-{

« this.input.readChar () T1XFB{ETEZH, |
INBOF—2PNFET—22REFEIBCFESTIIER WM E
DIARFLTFVORF 1A/ NN ERATERD

« http://docs.oracle.com/javase/ip/8/api/java/io/DatalnputStream.html



http://docs.oracle.com/javase/jp/8/api/java/io/DataInputStream.html

e SHIZLITICDOWTEUET
« JavaScriptOBAXE XY
« Document Object Model (DOM)

e (83%) Fybr A= JavaScript AP3

« http:/ /dotinstall.com/lessons/basic_javascript v2



http://dotinstall.com/lessons/basic_javascript_v2

7528 (B/K)

« M5
- ¥4
- EfA{E(true / false)
« A7Tx b
. &)
- B9¥
o $AFARIRABAT TV

e undefined BT/ENTL LY
« null ZICHLELY



HELHAET(BS)
[EE]+ EIXFIDHEEDNER

o ¥4 FITEHD, EAEDELLANNF
DEE XFIEHEIND

10
25 var x;
_ x = "1"+2;
2.5 alert(x);
° sﬁg? X = +"1" + 2;
- X o alert(x);
= -= f= /= D&SIZHEEEFLLTHESEXT

++ -- | Z8IEICERT HBEEELTHED
_&EHTEDS



XFH(HEE)

« RIRNKEETFHRNF
M1 ITHEE

X = "hello world";

X = 'hello world’;

X = "it's a pen”;

X = 'it¥'s a pen’;

« TA—7XFIN¥ I(Me—2)
o WM FOHTR27EMN¥n ¥t



il E( 48 )

« ifX CESRERIU
« for)X CERERIU(EHDEEvarlcEDS)
for (var i=0; i<20; i++) {
console.log(i);

]
 while3Z. do whileX CEsaLRU
 break3Z. continueX CEsaLRU

* switch3

s REFRIFEDOHRICHILBRERFII"EFHSHD
=== |== BHFHT—HIIHN LB

== I=  RBRESROZESICIIERLTHSHE



BN ( B8 )

CERBERELY. BYENRNEETIIAE
« TDDLY). function&lL\S5F—7—K2EL
c | MNDBIEEHLAE

var x = 100; var x = 100;
vary = 200; vary = 200;
function max(x, y) { var max = function (x, y) {
if (x>=y) return x; else returny; if (x>=y) return x; else returny;
} }
alert(max(x,y)); alert(max(x,y));

EEMNLTESTA CDIIGEEAHLTES



23

« ZDONRINAE

var student = new Array(3);
student[0] = "#&FH";
student[1] = "{aAK";
student[2] = " KE";

var student = ["#2FH" "IAAK" "KEF"];

« LV

for (var i=0; i<3; i++) { for (vari in student) {
alert(student[i]); alert(student[i]);
} }

EINERREZLIETBICIR in"HEF



A7 x b ERRER)

« ¥—L{ENHH
var hobby = new Object(); var hobby = {
hobby['##H'] ="HUYFEA"; BH"HYFEA",
hobby['f2 '] = "B L \¥"; mAREY
hobby[' KXEF' ="8I4"; KEF:"g94)"

//hobby.#823 = “BYUFEEA”; //THOK ||}

o LV
for (key in hobby) {
alert(key + "M #EREK[L“ + hobby[key]);
//alert(key + “DHRAR L “ + hobby.key); // TIENG! keyEWNIAVN—BIHA~ADT IR
}



7]-7 M‘:|:7|\( 1= u.\iﬂyu )

EEARERS T BRI 1Dl

var student = new Array(3);

student[0] = {
LR EFH
k7L,
R oy

}

student[1] = {
Z2Y-TTHE /A N
HRER:"E LV,

}##B‘i R

student[2] = {
2" KE,
il SRS 1 R
AR

}

for (i in student) {

}

alert(student[i][" & BIl"]
+"' DR (X"
+ student[i]["#REK"]);



Document Object Model (DOM)

e HTMLRF 24 MOBIE
« FAOYIN—")—I)VTElements27 Cig&EH B H D
HEBXWNDTIM?

A B
| EE

BHET-DSHDEZ,

¥ <html>
¥ <head>
<title>HOLULVGUWLVHA F</titles
<meta charset="utf-8">
P <style>..</style>
P <script>.</script>




Document Object Model (DOM)

<IDOCTYPE html>
<html>
<head>
<title>FAD &5 LV A k</title>
<meta charset="utf-8" />
<script>
(RDR—=)
</script>
</head>
<body>
<form name="form1">E B IXL\DTI H ? <br>
<input type="text" name="month" size=2>H <br>
<input type="text" name="date" size=2>H<br>
<input type="button" name="unsei" value="1&%">
</form>
<div>
HIET=-NS BDEZ L, <br><br>
<div id="target"></div>
</div>
</body>
</html>




Document Object Model (DOM)

window.onload = function () { // A—KFLI=&Z (28N T NIEEZEE
document.form1.unsei.onclick = unsei; // 2')w2LT=5unseiZxME 5

}
var u = ["<p>KE</p>", "<p>HE</p>", "<p>/NE</p>"]; // BBIIDERZESE

function getRandom(max) { // 0Mbmax-1EX THDELEEFKE S HEE

return Math.floor(Math.random()*max);
}

function unsei() {
var m1l = document.form1.month.value;
var d1 = document.form1.date.value;
alert(m1+"B"+d1+"B T943"); // = BZ=HEE
var r = getRandom(u.length);
var target = document.getElementByld("target");

target.innerHTML = u[r]; // targetlZXFHu[r]ZF1EHIA L



BEDOAIA—TcDOUT

s BHATESTLAENI. BEOA»SIERALN
function main() { D—jj}l/jfi%fﬂ

var x = "E8 o ",
}

alert(x);

s DA TESLEIUS. BAHOPHSIERAS

var x = "BH# D4+, 7‘D_/{)l/a£§&
function main() {
alert(x);

}



BEDOAIA—TcDOUT

CEREREY, BBOPTEFTIHBLE
_§ B CHIALTEA-ANERELRD LIS

window.onload = function () {
main();

}

varx=-"|aa§]§*ﬂ-0)5’1~"; O—AhJLZEE

f‘;‘;‘:rtt'&r;,ma'”() { (X ARII7& D Tundefined)
var x = "BA# D ; "

alert(x); El-j])b%’!ﬂ

} (RARGOT"EABDF")
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